ATRT2
Follow up questions for ICANN Staff
May 9, 2013

For discussion

1. Provide detailed examples of 3 specific implementation efforts (1 example of each) that you would qualify as:

A. Fully successful – identify the efforts necessary to fully implement; identify all of the individuals in the organization/community who participated in implementation; identify your quantitative and qualitative measures for success
B. Difficult or impossible to implement – identify the reasons why the recommendation was difficult or impossible to implement – lack of clarity in the recommendation; flawed assumptions; specific resource, legal, process, time, or other constraints.
C. [bookmark: _GoBack]Unsuccessful (partially or fully) in implementation effort – provide detail explanation why implementation was not successful; what would you do differently in order to successfully implement the recommendation; what needs to change – resource, legal, process, time or other to achieve successful implementation. 
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